Comparison: jdg st

rt at 3500 e- vs start at 2000 e-

2000 e- SCurve Compare
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1400 start 2k e

x?ndf Between Runs
19.548543
Std Dev start 3.5k e-: 5.983862
Std Dev start 2k e-: 6.309160
Mean start 3.5k e-: 166.635081
Mean start 2k e-: 164.230830
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Chip 6
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x2ndf Between Runs
2.452719
Std Dev start 3.5k e-: 12.433921
Std Dev start 2k e-: 13.664468
Mean start 3.5k e-: 171.038972
Mean start 2k e-: 171.264537
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x?ndf Between Runs
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Chip 7
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x2ndf Between Runs
15.678838
Std Dev start 3.5k e-: 7.907319
Std Dev start 2k e-: 8.275461
Mean start 3.5k e-: 165.877471
Mean start 2k e-: 168.518858
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const char file_dir_1[200] = "/home/joseph/Documents/Cornel/lCMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_exthreq/Results/Run000007_SCurve.root";
const char file_dir_2[200] = "/home/joseph/Documents/Cornell/CMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_maxTrim/Results/Run000004_SCurve.root";




Comparison: jdg start at 3500 e- vs start at 2000 e-

1500 e- SCurve Compare

Chip 4 Chip 5
1400| — idg st 3.5k 1500 e- ¥3/ndf Between Runs 1400| = idg st 3.5k 1500 e- x3/ndf Between Runs
—— jdg st 2k 1500 e~ 5.541359 — jdg st 2k 1500 e- 14.837131
1200 2= Std Dev jdg st 3.5k 1500 e-: 6.093491 1200 Std Dev jdg st 3.5k 1500 e-: 10.625597
= Std Dev jdg st 2k 1500 e-: 6.105740 - Std Dev jdg st 2k 1500 e-: 11.230115
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—— jdg st 2k 1500 e- 10.949425 —— jdg st 2k 1500 e- 7.165680
1200 Std Dev jdg st 3.5k 1500 e-: 12.399669 1200 Std Dev jdg st 3.5k 1500 e-: 7.853622
- Std Dev jdg st 2k 1500 e-: 13.724764 - Std Dev jdg st 2k 1500 e-: 7.960869
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const char file_dir_1[200] = "/home/joseph/Documents/Cornel/lCMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_exthreq/Results/Run000010_SCurve.root";
const char file_dir_2[200] = "/home/joseph/Documents/Cornell/CMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_maxTrim/Results/Run000007_SCurve.root";




Comparison: jdg start at 3500 e- vs start at 2000 e-

1200 e- SCurve Compare

Chip 4 Chip 5
1400| — idg st 3.5k 1200 e- ¥3/ndf Between Runs 1400| = idg st 3.5k 1200 e- ¥3/ndf Between Runs
— jdg st 2k 1200 e- 7.601140 —— jdg st 2k 1200 e~ 3.209524
1200 Std Dev jdg st 3.5k 1200 e-: 8.186494 1200 Std Dev jdg st 3.5k 1200 e-: 16.209306
- Std Dev jdg st 2k 1200 e-: 7.293890 - Std Dev jdg st 2k 1200 e-: 15.732181
= Mean jdg st 3.5k 1200 e-: 97.752509 = Mean jdg st 3.5k 1200 e-: 101.205680
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1400 | = idg st 3.5k 1200 e- x3/ndf Between Runs 1400 | = idg st 3.5k 1200 e- x*/ndf Between Runs
— jdg st 2k 1200 e- 1.258558 — jdg st 2k 1200 e- 39.364956
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const char file_dir_1[200] = "/home/joseph/Documents/Cornel/lCMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_exthreqg/Results/Run000014_SCurve.root";
const char file_dir_2[200] = "/home/joseph/Documents/Cornell/CMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_maxTrim/Results/Run000027_SCurve.root";




Comparison: jdg vs jm 2000 e-

2000 e- SCurve Compare

Chip 4 Chip 5
1600 [ — jdg st 2k 2000 e- x?ndf Between Runs 1600 [ — jdg st 2k 2000 e- x?ndf Between Runs
—— jm st 3.5k 2000 e- 34.779241 —— jm st 3.5k 2000 e- 14.913976
1400 — Std Dev jdg st 2k 2000 e-: 6.309160 1400 — Std Dev jdg st 2k 2000 e-: 11.280638
=4 Std Dev jm st 3.5k 2000 e-: 6.057294 = Std Dev jm st 3.5k 2000 e-: 10.898257
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1600 [ — jdg st 2k 2000 e- x?ndf Between Runs 1600 [ — jdg st 2k 2000 e- x?ndf Between Runs
— jm st 3.5k 2000 e- 3.668846 —— jm st 3.5k 2000 e- 11.783242
1400 — Std Dev jdg st 2k 2000 e-: 13.664468 1400 [— Std Dev jdg st 2k 2000 e-: 8.275461
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const char file_dir_1[200] = "/home/joseph/Documents/Cornell/ CMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_maxTrim/Results/Run000004_SCurve.root";
const char file_dir_2[200] = "/home/joseph/Documents/Cornell/CMS/TFPX/Electronics_Readout/F5_comparisons/033023/Results/Run000008_SCurve.root";




Comparison: jdg vs jm 1500 e-

1500 e- SCurve Compare

Chip 4
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const char file_dir_1[200] = "/home/joseph/Documents/Cornell/ CMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_maxTrim/Results/Run000007_SCurve.root";
const char file_dir_2[200] = "/home/joseph/Documents/Cornell/CMS/TFPX/Electronics_Readout/F5_comparisons/033023/Results/Run000012_SCurve.root";
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x?ndf Between Runs
2.861857
Std Dev jdg st 2k 1500 e-: 11.230115
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13.152056
Std Dev jdg st 2k 1500 e-: 7.960869
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Mean jm st 3.5k 1500 e-: 124.445092
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Comparison: jdg vs jm 1200 e-

1200 e- SCurve Compare

Chip 4 Chip 5

1400 | — idg st 2k 1200 e- ¥3/ndf Between Runs 1400 | — idg st 2k 1200 e- x3/ndf Between Runs
— jm st 3.5k 1200 e- 7.070006 — jm st 3.5k 1200 e- 10.293964
1200 2= Std Dev jdg st 2k 1200 e-: 7.293890 1200 — Std Dev jdg st 2k 1200 e-: 15.732181
- Std Dev jm st 3.5k 1200 e-: 6.076565 - Std Dev jm st 3.5k 1200 e-: 10.375823
= Mean jdg st 2k 1200 e-: 99.303674 = Mean jdg st 2k 1200 e-: 99.634703
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1400 | = idg st 2k 1200 e- x3/ndf Between Runs 1400 | = idg st 2k 1200 e- x*/ndf Between Runs
— jm st 3.5k 1200 e- 9.133844 — jm st 3.5k 1200 e- 15.057509
12001~ Std Dev jdg st 2k 1200 e-: 13.473394 12001~ Std Dev jdg st 2k 1200 e-: 7.984429
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const char file_dir_1[200] = "/home/joseph/Documents/Cornell/ CMS/TFPX/Electronics_Readout/F5_comparisons/jdg_quad_v11_maxTrim/Results/Run000027_SCurve.root";
const char file_dir_2[200] = "/home/joseph/Documents/Cornell/CMS/TFPX/Electronics_Readout/F5_comparisons/033023/Results/Run000018_SCurve.root";




April 3, 2023

PixelAlive after (short) noise and thradj

Initial PixelAlive Pixel Alive from noise run Why the pattern?
Why does the scale change??
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Initial PixelAlive
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April 3, 2023

From long Noise run (long = 25 min)

D_B(0)_O(0)_H(0)_Pixel Alive_Chip(12)

D_B{0)_0|0)_W(0)_PixelAlive_Chip}12

:."| Entries 7645
S| Mean x 214.9 )g

300 .| Meany 162.6

. | StdDevx 124.4
250 ~-S-.t9--9§\."¥; a5
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50 0.01

0 e i i fo- % 3 ';';-_‘ 0

0 50 100 150 200 250 300 350 400
Columns

Did not have time to run another threshold adj after this
because it was so long with nClkDelay = 1300



